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Instructions : (1) Answer any three of the following questions. 14 x3=42
(2) All questions carry equal marks.

PART - A

1. What is Cottage and Small Industries ? Explain limitations of cottage and small

industries in India.

2. Evaluate performance of Public Sector in India.

3. Discuss the Government Policy for reducing unemployment in India.
4.  Discuss the Government Policy for removing poverty.

5. How are industries classified ?

6.  Describe contribution of agriculture sector in development of India.

7.  Give the meaning of unemployment and suggest some measures for reducing

unemployment.

8.  Explain the concept of poverty line and discuss the government policy for removing

poverty.
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PART -B

9. MCQ. 2x4=8§
Instructions : (1) Answer the any four of the following MCQ.
(2) All MCQs carry equal marks.

(1) The Indian Farmers are getting proper reward.
(A) True (B) False

(2) Indian Poverty is a result of

(A) Natural factors (B) Man-made factors

3) is the biggest public enterprise of Government of India.
(A) Railway (B) Telecom

(4) Economic reforms in India have taken place since Industrial Policy.
(A) 1991 (B) 1995

(5) The unemployment problem is an economic problem.
(A) True (B) False

(6) The number of public sector units in 2010 in India were
(A) 149 (B) 249

(7) Lord Byod has presented the concept of Poverty line for the first time.
(A) True (B) False

(8) India has not only Relative Poverty.
(A) True (B) False
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